BT Rt R AR (BRA)H—EX

ERREER - $F2F8A1H
SRR CHFH D <B> <& <EE>
J—K THX 4 HARA SEAN BEHE at HARA SEA HARA SEAN B HARA SEA at
1 Ef H T 649 12 6 667 543 8 551 580 13 593 1,123 21 1,144
10 R BT 379 6 1 386 363 1 364 358 7 365 721 8 729
20 /B R T 2,065 26 17 2,108 1,932 25 1,957 1,861 25 1,886 3,793 50 3,843
35 — & H 489 10 2 501 518 9 527 551 5 556 1,069 14 1,083
40 K F T # 17 0 0 17 17 0 17 16 0 16 33 0 33
45 FT i) 623 17 8 648 678 10 688 682 18 700 1,360 28 1,388
48 I dw  HT 1,579 57 20 1,656 1,688 74 1,762 1,801 73 1,874 3,489 147 3,636
50 K i HT 1,514 32 9 1,555 1,550 28 1,578 1,483 21 1,504 3,033 49 3,082
60 X ¥ H 1,061 15 8 1,084 1,043 23 1,066 1,041 16 1,057 2,084 39 2,123
70 XK & H 767 21 5 793 689 17 706 645 14 659 1,334 31 1,365
80 BT 549 5 9 563 620 11 631 663 10 673 1,283 21 1,304
1010 18 A BT 548 9 2 559 413 9 422 469 3 472 882 12 894
1020 £ ¥ 0O H 1,899 36 14 1,949 1,858 27 1,885 1,912 32 1,944 3,770 59 3,829
1030 L g H 1,119 26 6 1,151 952 23 975 1,020 16 1,036 1,972 39 2,011
1060 K = it B 51 1 0 52 56 1 57 70 1 71 126 2 128
1061 &t B = H 0 0 0 0 0 0 0 0 0 0 0 0 0
1065 4t 5 H 577 11 3 591 618 14 632 671 2 673 1,289 16 1,305
10711 FfMHBE1TH 97 3 0 100 94 3 97 91 0 91 185 3 188
1072 F=FfHBE2TH 649 13 5 667 722 19 741 700 10 710 1,422 29 1,451
1073 RMHBE3TH 1,023 27 7 1,057 1,079 29 1,108 1,015 23 1,038 2,094 52 2,146
1074 R HBE4TEH 118 0 2 120 153 1 154 143 2 145 296 3 299
1076 dt=EFE1TH 693 10 4 707 680 9 689 796 9 805 1,476 18 1,494
1077 dL=FFHE2TH 523 17 6 546 522 21 543 616 30 646 1,138 51 1,189
1078 JtFEFEITH 413 15 5 433 484 20 504 472 25 497 956 45 1,001
1080 Jt B X H 610 32 7 649 652 27 679 589 21 610 1,241 48 1,289
1090 K F % ¥ 1 0 0 1 1 0 1 0 0 0 1 0 1
1091 ¥ T 521 44 6 571 554 35 589 593 18 611 1,147 53 1,200
1095 & ¥ % HT 130 14 1 145 133 11 144 113 4 117 246 15 261
1100 == g HT 843 11 4 858 660 6 666 700 11 711 1,360 17 1,377
1110 3 BT 671 10 3 684 571 10 581 628 6 634 1,199 16 1,215
2000 3% T 1,462 47 13 1,522 1,264 40 1,304 1,197 36 1,233 2,461 76 2,537
2000 & B H H 966 20 6 992 975 15 990 1,041 25 1,066 2,016 40 2,056
2020 /v B HT 1,305 31 15 1,351 1,155 26 1,181 1,212 35 1,247 2,367 61 2,428
2030 #h B i) 1,684 79 24 1,787 1,405 67 1,472 1,458 58 1,516 2,863 125 2,988
2040 ® ™ F H 1,468 44 17 1,529 1,268 28 1,296 1,432 43 1,475 2,700 71 2,771
2050 T g H 700 13 1 714 715 10 725 689 7 696 1,404 17 1,421
2051 = 1T H 69 6 1 76 56 5 61 46 2 48 102 7 109
2062 ™ = 2 T B 308 4 1 313 279 4 283 280 1 281 559 5 564
2053 = 3 T H 270 13 4 287 347 17 364 328 6 334 675 23 698
2054 = 4 T H 63 1 0 64 55 1 56 50 0 50 105 1 106
2006 M = 5 T B 424 14 4 442 430 12 442 438 11 449 868 23 891
2006 ™M = 6 T B 168 12 2 182 183 3 186 167 12 179 350 15 365
2060 % iE @ HT 691 16 6 713 693 16 709 625 7 632 1,318 23 1,341
2075 T B K H 621 26 2 649 728 33 761 782 25 807 1,510 58 1,568




BT Rt R AR (BRA)H—EX

ERREER - $F2F8A1H
THREK CHEFH <CB> <& TN
J—K THX 4 HARA SEAN atHE at HARA SEA B HARA SEAN B HARA SEA at
2081 & 88 1 T H 237 17 0 254 222 19 241 218 2 220 440 21 461
2082 & B8 2 T H 259 4 1 264 329 6 335 321 4 325 650 10 660
2083 B 88 3 T H 511 10 9 530 524 13 537 534 19 553 1,058 32 1,090
2084 & 8 4 T H 637 33 10 680 680 36 716 676 27 703 1,356 63 1,419
2000 X & @ H 1,626 112 17 1,755 1,389 59 1,448 1,375 76 1,451 2,764 135 2,899
2105 &  H 168 0 0 168 192 0 192 204 0 204 396 0 396
2110 + H ¥E 1,331 95 20 1,446 1,301 119 1,420 1,417 111 1,528 2,718 230 2,948
2120 + H # H 1,502 104 25 1,631 1,053 120 1,173 1,382 129 1,511 2,435 249 2,684
3000 H H T 882 8 9 899 931 8 939 977 10 987 1,908 18 1,926
3010 & 1 T 793 14 5 812 688 11 699 756 14 770 1,444 25 1,469
3020 ® #& MY 998 20 7 1,025 887 15 902 972 15 987 1,859 30 1,889
3030 B% 5 H 184 11 3 198 161 11 172 170 3 173 331 14 345
4000 T 511 8 2 521 479 10 489 448 10 458 927 20 947
4020 X F % 0O 27 1 0 28 13 0 13 32 1 33 45 1 46
4030 ¥ B H 1,903 47 11 1,961 1,588 39 1,627 1,670 37 1,707 3,258 76 3,334
5000 k& T 715 3 1 719 657 3 660 685 3 688 1,342 6 1,348
5010 ®# R HT 504 24 15 543 456 16 472 517 29 546 973 45 1,018
5013 B I im HT 405 21 4 430 483 23 506 457 14 471 940 37 977
5015 R H T 331 55 4 390 392 59 451 383 7 390 775 66 841
50200 K F* # B 0 0 0 0 0 0 0 0 0 0 0 0 0
5022 O A B W 401 9 4 414 465 8 473 441 8 449 906 16 922
5025 H T 1,608 41 11 1,660 1,675 37 1,712 1,609 24 1,633 3,284 61 3,345
5040 T n T 521 7 7 535 475 5 480 466 15 481 941 20 961
5045 & H BT 578 11 6 595 689 14 703 623 16 639 1,312 30 1,342
5050 & T 1,712 35 15 1,762 1,536 23 1,559 1,497 40 1,537 3,033 63 3,096
6000 # FE H 127 3 1 131 113 2 115 77 4 81 190 6 196
6005 % A&  H 29 3 3 35 32 3 35 25 6 31 57 9 66
6010 {i = i) 1,320 23 6 1,349 1,133 19 1,152 1,299 15 1,314 2,432 34 2,466
6011 =YV E1TBH 680 7 7 694 745 9 754 798 8 806 1,543 17 1,560
6012 =V E2TH 689 10 4 703 673 13 686 662 7 669 1,335 20 1,355
6013 =Y E3TH 415 17 0 432 432 13 445 408 6 414 840 19 859
6014 =V E4TBH 495 8 4 507 554 11 565 564 12 576 1,118 23 1,141
6015 =YV E5TH 851 41 3 895 868 37 905 754 25 779 1,622 62 1,684
6016 =YV E6TH 755 39 10 804 705 47 752 804 49 853 1,509 96 1,605
6020 K F =Y B 2 0 0 2 2 0 2 0 0 0 2 0 2
6025 M % 0O M 849 3 5 857 846 3 849 962 5 967 1,808 8 1,816
6030 = ¥  H 835 15 5 855 709 13 722 682 16 698 1,391 29 1,420
6040 = Bl HT 444 7 4 455 426 10 436 436 6 442 862 16 878
6050 [A] 5 H 569 12 3 584 498 8 506 516 8 524 1,014 16 1,030
6060 JT T 1,196 23 13 1,232 1,082 20 1,102 1,228 23 1,251 2,310 43 2,353
7000 40 BT 678 25 9 712 581 13 594 632 25 657 1,213 38 1,251
7010 H BT 766 12 8 786 750 10 760 870 10 880 1,620 20 1,640
8000 K F 1 it 4 0 0 4 3 0 3 4 0 4 7 0 7
8100 f# H T 1,113 67 10 1,190 1,090 67 1,157 1,155 64 1,219 2,245 131 2,376
&t 60,538 1,811 537 62,886 57,903 1,700 59,603 59,730 1,586 61,316 117,633 3,286 120,919




